ohe 2] thstel the % 27 9

A
[J
E
® HAE A4 St
@ #HAB= A &3ttt
® HCE H4iel &t
@)Ap: A4 St
® HBL 40 &34 ghett
@ A D= A4 1 99 9A k.




o5 23} o] Ao BA 2] AD
oF 11 91211 A= & Q172

© 274 @3 @)
@ 570 ® 671

EF, HG, BF, CG 2| 47§°]t},




o

op

el
~r
W+
B
T D
U
bR
J) o
T

= Al A

-

[e)
o

FAA 91 9

S

©)

o

o

od
NI
W
o

o
Bo




o] BhbA 7= Al o] ReF2?

[e]

g]

1=

=

4.

o

I
T

ol
I

©

&

T

® 2t

b

@4

< gojrt.

=0

(e)

o @

ol

o
iE

A

ol WA A7)

B

Bo




HE AB 919 A P = AE AB 2312 UslE Holw, Ak AP
S} 412 PB 9] 30| 27k M, N o]ek, A% MN ©] Zol7k 10em &
ul, A5 AB 9 ol atelet.

L~

» E: cm

> el 20em

| 3a f—a—|

A 5 M 5 P N B
9 | 9 | | |

|<—2a T 2@ l%a'%al

BP =a 2t o}¥

AP =3a 0|R 2

A_:_P:ga

— — 1

P = B=§a

_— — —— 3 1
O]EH,MN:MP+PN:§a+5a=2a°]_‘1§

2a =10, a=5cm
o AB =4a=4x5=20 (cm)




6. TS ATolM xye o= 2:3:5 D T, Al 2 Fol A b WL
21e] 2749

@® 18 @ 30 (@)36 @ 48 ® 50

N
N
)
12
rlo
N
N

2
Z+ol A 7] x° O] BLE x° = 180° X T 360° o]t}




7. g 2-AA L ] 2718 Fololat,

31+9° 6x—21°

i
o

3x+9° =6x—21°
3x = 30°
. /x = 10°




8.

o AN 1/ m A W, 22— 2y0] A7
e

o
o

>
> ®ehl 50°

Lx=/Ly+50° /x—-1y=50°




b2 AbthelE ABCD 7 92 o,

9.

A

<t
an}

Al

as)
<t

Ul Wl g1 un
&0

e
@)

A
B

Q
aa)

il
KO

A

<
[
)
H

A
<

il
KO




10. ©hS 7o JLAS A BAE B, F, C S AL BHOR A2
A= Folch. BAT CF o 7l 970 Y& BA 2] 42
Fafolat

A
C
B
G
E
F
ch 7H




Oh& 2R o] 2™ 919 & 47 AB 2 CD 7F 4 O oA
Thtal 9lok. AB, CD 9] 45 242 M, N o]2tal & o, AMNO 9]

YA
69C
_'2 Ne . 4'1 .
AOM B*<?
—4¢D

B ‘

AB o] FHo] M o] CD 9] SHo] INoJEZ M =1,
N =1 o]t}

web A MNO o] Holt 1x 1x 5 = & olek:




12. the 7 FolA E2o] obd e

@© 140° @ 135° @ 90° @ 95° ® 105°




13. o8 a"oA LAOB = 3/BOC, /DOE =
3,COD ¥ u, /BOD 2] 27]|& Lsloizt,

[
H -

o

| 2
> ®eh: 45°

B

/BOD = /BOC + «COD
= leOC + }IACOE

= = x (£AOC + /COE)
= ZX1800245°




14. ohe 193 2E A7 ABCD of et thg A % 88

I=2H?

A D

@) C o14 A4 AB o] A 49 W 3 B o]t
@ (ADC = 90°

@) D o141 A4 AB Aol o] A= AD o] Zoleltt
@ 7 C oA A4 AB Atolo] Aeli AB o] Aoelt}.

® A A A FHd BC o i 49 2 A D ol

@ (DAB = /ABC = 90° °|t}.

@ A C oA A4 AB Ate]2] A= BC 9] Zololtt
® A A oA 24 BC o W Ao T2 A B oot




15. ot} 2holA £ AM [, m o] By uf, bnk
Le, 1g 9] A7)E F5}olat. - “ !
100°

e ~d
i

e
o

i
I o

- Ze=100 °

v V. v Vv
02
L

0
I

. /g=100"°

te =100°, /g =100°




16.

e 2" 1)/ m 4w, 2x & F5HH?

@® 20° @ 25° @30° @ 35° ® 40°




17. s ™M 1)/ md W, 2x 2] 27127

12°
135°

36°

@® 89° @ 90° ® 91° @ 92°

(5))93°

/x = 57° + 36° = 93°




18. o3 I™A /AFE = 90°, /FED = 60°,
(EDC = 50°, /DCB = 40°, «CBH = 30°
0w, 2A ©] 2718 Fsfoier,

\4
L
o

AB 9} Wast A48 T0]HH FEH = 20°
K

(A = /FHE (

off

17H= 180° — (90° + 20°) = 70°




19. o5 293 Zol 3t BH Qe vl A A, B, C, D 9F o] FH 5] g
B E 7ot o5 Bl 0 A 5 A Ao AEE Bee nk
W 7177
E
°
De oC
o A B

® 570 @77H ® 97 @ 11 7) ® 1371

~&B ~

HESA B C,DFYFHS
EAD , EBC,EBD, ECD 216 7], A, B, C, D =3I ™ 2]
QonZ Y Mg A= HH1 7, AR EE HAH F 5T

7ol




» T
» E
[> =gl AG E=GA
> =g EG = GE

AB ¢ 291 917 €] EA = AG 2+ EG Ot
A




